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HEEES | 255 FEMTTH| 3 |11
HEEES | 255 EEEHTZTH| 3 |11
HEEER| 290 - 1 ZEEMI—TH| 1 |44
eS| 290 - 1 ZEEWM—TH| 1 |45
eS| 290 - 1 BEEWM—TH| 1 |45
eS| 290 - 1 ZEEWMI—TH| 1 |46
eS| 290 - 1 ZEEWM—TH| 1 |46
eS| 290 - 1 ZEEW—TH| 1 |53
HEEER 290 - 1 ZEEW—TH| 1 |53
FFHB| 290 -1 ZELWT—TH| 1 |53
FHB| 290 -1 ZELWT—TH| 1 |53
FHB| 290 -1 ZELWT—TH| 1 |53
FHB| 290 -1 ZELWT—TH| 1 |53
FHB| 290 -1 ZELWT—TH| 1 |53
FHB| 290 -1 ZELWT—TH| 1 |53
FHB| 290 -1 ZELWT—TH| 1 |53
| 290 -1 ZELWT—TH| 1 |53
| 290 -1 ZELWT—TH| 1 |53
| 290 -1 ZELWT—TH| 1 |53
| 290 -1 ZELWT—TH| 1 |53
| 290 -1 ZELWT—TH| 1 |53
| 290 -1 ZELWT—TH| 1 |53
| 290 -1 ZELWT—TH| 1 |53
| 290 -1 ZELWT—TH| 1 |53
HEEER 290 -1 LW —TH| 1 |53
HEEER 290 -1 LW —TH| 1 |53
HEEER 290 -1 LW —TH| 1 |53
HEEER 290 -1 LW —TH| 1 |53
ML) 323 - 22 ZEEHTZTH| 3 |23
HEEEL) 323 - 32 ZEEHTZTH| 3 |22
HFEE| 348 - 1 FRFERIT—TH| 8 |32
HFEE| 348 - 1 FRIFEET—TH| 8 |32
HFEE| 348 - 1 FRIFEET—TH| 8 |32
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HeEE| 348 - 17 tEE—TH| 8 |27
HeEE| 348 - 37 I —TH| 8 |31
HeEE| 348 - 37 tEI—TH| 8 |32
HeEE| 348 - 46 tEI—TH| 8 |29
HeEE| 348 —47 tEI—TH| 8 |24
| 440 - 1 LM —TH| 1 |64
HEEER| 440 - 1 M —TH| 1 |64
| 440 -5 ZEM—TH| 1 |59
| 440 -5 ZEM—TH| 1 |59
HHEEER| 440 -5 SN —TH| 1 |59
HHEEER| 440 -5 ZEEM—TH| 1 |59
HHEEER| 440 -5 ZEEM—TH| 1 |59
FREEER| 440 -7 NI —TH| 1 |62
HHEEER| 440 -9 EEM—TH| 1 |12
HREEER| 440 -9 BEEM—TH| 1 |13
HHEEER| 440 -9 NI —TH| 1 |13
HEES 440 - 13 FEWM—TH 1 |62
HEES 440 - 13 LW —TH| 1 |62
HEES 440 - 23 ZEEW—TH| 1| 5
HEES 440 - 23 FEWM—TH 1|5
HEES 440 - 23 ZEEW—TH| 1| 5
| 440 - 24 FLW—TH| 1| 6
| 440 - 24 FEWM—TH 1|6
| 440 - 24 FEW—TH| 1|7
HEEE | 440 - 24 LW —TH| 1|7
HEEE | 440 - 24 LW —TH| 1|7
HEEE | 440 - 24 LW —TH| 1|7
HEEES| 440 - 30 LW —TH| 1 |15
HEEES| 440 - 30 LW —TH| 1 |15
| 446 -6 LW —TH| 4|1
| 447 -3 LW —TH| 1 |17
| 463 -6 LW —TH| 3 |35
| 465 -3 LW —TH| 4| 3
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P 465 -3 BEEW-TH| 4 |41
P 465 -3 YW T H| 4 |43
HFEED| 465 - 4 BESUT—TH| 5 | 2
PR 465 -8 BEEW—TH| 5| 5
R 465 -8 ZEEW—TH| 5| 5
HeEER| 465 - 13 BEWM—TH| b 1
HEEER | 465 - 14 ZEEWM—TH| 5| 6
R 466 - 6 ZEEWM—TH| 4 |43
e 468 - 1 BEEM—TH| 4 | 4
AL 468 -2 BELWT—TH| 4 |38
HHEEEL| 468 -3 BELWT—TH| 4 |38
HEEES| 468 -5 BEMWT-TH| 5 | 7
HEEES| 468 -5 BEMWT-TH| 5 | 7
HEEES| 468 -5 BEMWT-TH| 5 | 7
HEEES| 468 -5 BEMWT-TH| 5 | 7
ML) 468 - 15 BEW—TH| 5| 7
HEEER 469 - 1 BEMET-TH| 3 | 6
HEEER 469 - 1 BEMET-TH| 3 | 6
HEEER 469 - 1 BEMET-TH| 3 | 6
HEEER 469 - 1 BEMET-TH| 3 | 6
HEEER 469 - 1 BEMET-TH| 3 | 6
HEEER 469 - 1 BEMET-TH| 3 | 6
HEEER 469 - 1 BEMET-TH| 3 | 6
HEEER 469 - 1 BEMET-TH| 3 | 6
R 469 - 1 M —TH| 3| 6
R 469 - 1 M —TH| 3| 6
R 469 - 1 M —TH| 3| 6
R 469 - 1 M —TH| 3| 6
R 469 - 1 M —TH| 3| 6
R 469 - 1 M —TH| 4| 6
R 469 - 1 M —TH| 4| 6
HEEEL 469 - 1 M —TH| 4| 6
HEEEL 469 - 1 M —TH| 4| 6
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HEEES | 469 -4 ZEE—TH| 5 | 9
HEEER 470 -1 BZWM—TH| 3 7
HEEER 470 -1 BN —TH| 3 7
HEEER 470 -1 BEWM—TH| 3 7
HEEER | 470 -4 ZEEHT—TH| 5 |10
HEEER | 470 -4 ZEEHT—TH| 5 |10
HEEER | 470 -5 ZZEN—TH| 4 |34
HEEER | 470 -5 ZZE—TH| 4 |35
HEEER | 470 - 6 ZE—TH| 3 |33
| 470 -8 ZEERT—TH| 5 |11
| 470 -8 ZEENT—TH| 5 |11
R ATL -4 ZEEWNT T H| 4 |18
R AT -4 ZEERT—TH| 5 |11
R AT -4 ZEENT T H| 5 |12
| 471 -5 BEENT—TH| 3 | 9
| 472 -1 ZEENT T H| 4 |32
R 472 -1 BEENT T H| 4 |32
R 472 -6 ZEENT—TH| 4 |10
| 472 -7 ZEENT—TH| 3 |11
HRFER| 473 -4 ZELNT—TH| 5 |14
| 473 -7 ZELNT—TH| 4 |31
| 473 -7 ZELNT—TH| 4 |31
| 473 -7 ZEERT—-TH| 4 |31
| 473 -7 ZELNT—TH| 4 |31
HEEES| 473 -7 IR —TH| 4 |31
HEEES| 473 -8 EEH—TH| 5 |16
HEEES| 473 -9 BRI —TH| 5 |17
HREEE| 473 - 10 BRI —TH| 5 |15
HREEE| 473 - 10 BRI —TH| 5 |15
e 474 -1 BRI —TH| 4 |13
eS| 474 -6 BRI —TH| 3 |27
HEEES| 474 -6 M —TH| 3 |27
HEEES| 474 -8 FEM—TH| 3 |14
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| 474 - 11 LW —TH| 4 |30
| 475 -1 EEEHT—TH| 4 |15
| 475 -6 EEEHT—TH| 3 |15
HEEER| 476 - 10 ZEZWM—TH| 4 |15
R 476 -1 ZEEWM—TH| 3 |16
e 476 - 1 ZEEWM—TH| 3 |16
e 476 - 1 ZEEWM—TH| 3 |16
R 476 -1 ZEEWM—TH| 3 |16
R 476 - 1 ZEEWM—TH| 3 |16
R 476 - 1 ZEEWNT—TH| 3 |16
R 476 - 1 ZEZWNT—TH| 3 |16
R 476 - 1 ZEZWNT—TH| 3 |16
R 476 - 1 ZEENT—TH| 3 |16
R 476 -1 ZEENT—TH| 3 |16
R 476 -1 ZEENT—TH| 3 |16
R 476 - 1 ZEENT—TH| 3 |24
HHEER| 476 -1 ZELNT—TH| 3 |26
HHEER| 476 -1 BEENT T H| 4 |27
HER| 476 -4 ZELWT—TH| 5 |18
HHER| 476 -4 ZELHNT—TH| 5 |19
HHER| 476 -4 ZELHNT—TH| 5 |19
HHER| 476 -4 ZEEWT—TH| 5 |20
| 476 -6 BEEWNT T H| 4 |17
| 476 -8 BELWNT T H| 5 |22
HHEEE| 476 -8 BRI —TH| 5 |22
HEEES| 476 -8 BESWITH| 5| 8
HREEE| 476 - 10 R —TH| 5 |23
HREEE| 476 - 10 R —TH| 5 |23
HREEE| 476 - 12 R —TH| 5 |23
HREEE| 476 - 12 R —TH| 5 |23
HREEE| 476 - 12 R —TH| 5 |23
HREEER| 476 - 12 M —TH| 5 |23
HREEER| 476 - 12 M —TH| 5 |23
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HEEE| 476 - 12 LW —TH| 5 |23
HREEER | 478 ZESWIZTH| 6 | 1
HEEER | 478 ZESWTZTH| 6 | 2
e 478 -1 ZEEWI—TH| 3 |19
e 478 -1 ZEEWI—TH| 3 |19
e 478 -1 ZEEWMI—TH| 3 |19
e 478 -1 ZEEWMI—TH| 3 |20
R 478 -1 ZEEMI—TH| 4 |19
R 478 -1 ZEEWMI—TH| 4 |19
| 478 -1 ZEEWNT T H| 4 |19
| 478 - 1 ZEENT T H| 4 |20
| 478 - 1 ZEENT T H| 4 |20
| 478 - 1 ZEERTTH| 4 |21
| 478 - 1 ZEERTTH| 4 |21
| 478 - 1 ZEERTTH| 4 |21
| 478 - 1 ZEERTTH| 4 |21
| 478 -1 BEENT T H| 4 |22
R 478 -1 BELNT T H| 4 |23
| 478 -3 BELHNT T H| 3 |22
R 479 -1 BEEWNT T H| 2 |27
R 479 -1 BEENT T H| 2 |27
R 479 -1 BELWNT T H| 2 |28
| 479 -1 BEENT—TH| 2 |29
HEEER 479 -1 ZEMWI T H| 5 |16
HEEER 479 -1 ZEYHITH| 5 |16
HEEES| 479 -3 BRI —TH| 2 |32
HEEES| 479 -4 BRI —TH| 2 |25
HEEES| 479 -4 BRI —TH| 2 |25
HEEES| 479 -4 BRI —TH| 2 |25
HEEES| 479 -5 BRI —TH| 2 |26
HEEES| 479 -5 BRI —TH| 2 |26
HEEES| 479 -5 M —TH| 2 |27
HEEES| 479 - 6 M —TH| 2 |26
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| 479 -6 LW —TH| 2 |26
| 479 -6 EEEHT—TH| 2 |26
HEEEL| 479 -6 ZESMTTH| 2 |26
HEEEL| 479 -7 ZESHT—TH| 2 |31
HEER| 480 - 1 ZESMTTH| 2 |34
HheEEL| 480 -2 ZESMT—-TH| 2 |33
HhEEEL| 480 -2 ZESMT-TH| 2 |34
HEEEL| 480 -2 ZESHTTH| 2 |36
HheEEL| 480 -3 ZESMT—~TH| 2 |35
K| 482 BELWT—TH| 2 |37
K| 482 EELWT—TH| 2 |39
K| 482 EELWT—TH| 2 |39
K| 482 ELWT—TH| 2 |39
R 483 EELWT—TH| 2 |39
HEER| 483 -3 LW —TH| 2 |18
HEER| 483 -3 EELWT—TH| 2 |39
HeR | 483 -3 LW —TH| 2 |39
HER| 484 -1 LW —-TH| 2 |42
HER| 484 -1 BLWT—TH| 2 |43
HER| 484 -1 BLWT—TH| 2 |43
HEEER| 484 -3 BEMET-TH| 2 | 5
HEEER | 484 -3 BEMET-TH| 2 | 5
WL 485 -1 BEMET-TH| 2 | 5
| 485 -2 EELWT—TH| 2 |45
| 485 -2 EELWT—TH| 2 |46
| 485 -2 EELWT—TH| 2 |46
HhFHB| 488 — 1 EELWT—TH| 2 |52
| 488 -2 EELWT—TH| 2 |54
| 488 -2 EELWT—TH| 2 |54
| 490 -2 mEEIT—TH| 2 | 8
| 491 -1 LW —TH| 2 |10
HEEEL 491 -1 M —TH| 2 |10
HEEEL 491 -1 M —TH| 2 |39




BN Rl A =

TR
B F B £ R o m £ R
AEEANE 2 #om % ;% s
| 491 -3 LW —TH| 2 |39
| 492 - 1 EEHT—TH 2 |13
| 492 -4 LM —TH 2 |12
R 492 -5 BEEWM—TH| 2 |12
R 492 -5 BEEM—TH| 2 |12
R 492 -5 BEEM—TH| 2 |12
R 492 -5 BEEWM—TH| 2 |12
R 492 -5 BEEM—TH| 2 |12
R 492 -6 BEEM—TH| 2 |12
| 493 -3 LW —TH| 2 |15
| 493 -3 EELWT—TH| 2 |16
| 493 -3 LW —TH| 2 |16
| 493 -3 LW —TH| 2 |16
R 494 -1 EELWT—TH| 2 |16
R 494 -1 LW —TH| 2 |16
R 494 - 1 LW —TH| 2 |18
HHER| 494 - 1 LW —TH| 2 |21
HEEER| 495 ZEEH—TH| 2 |24
HEER| 495 - 1 LW —-TH| 2 |22
HEER| 495 - 1 LW —TH| 2 |23
HEER| 495 - 1 LW —TH| 2 |23
HEB| 495 -4 EELWT—TH| 2 |20
HEER| 495 -4 EELWT—TH| 2 |20
HEEER 496 - 1 EESWITH| 1| 1
HEEEL 496 - 1 ECHTTH| L |1
HEEES | 496 -3 FESHTTH| 1 |51
HEEES | 496 -3 FESHTTH| 1 |51
HREEE| 496 - 4 R —TH| 5 |13
HEEES| 496 -4 FECHTTH| 1 |48
HEEES| 496 -4 FESHTTH| 1 |48
HEEES| 496 -4 FESHTTH| 1 |48
HEEES| 496 -4 FESHTTH| 1 |48
HEEES| 496 -4 FESHTTH| 1 |48
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HEEE| 496 - 4 EEEHT T H| 1|49
HEEE| 496 - 4 ZESWIZTH| 1 |50
HEEE| 496 - 4 ZESWI T H| 1 |50
HEEE| 496 - 4 ZESWIZTH| 1 |50
HEEE| 496 - 4 ZESWIZTH| 1 |50
| 497 - 1 ZESWI T H| 1 |39
| 497 - 1 ZESWI T H| 1 |43
| 497 - 1 ZESWI T H| 1 |43
| 497 - 1 ZESWI T H| 1 |43
HEEER 497 -1 ZESWI T H| 1 |44
HEEER 497 -1 BEMWI T H| 1 |45
HEEER 497 -1 BEMWI T H| 1 |45
HEEER 497 -1 BEMWI T H| 1 |45
R 497 -1 EEMWI T H| 1 |46
HEEER 497 -1 BEMWI T H| 1 |46
HEEER 497 -1 BEMWI T H| 1|47
HEEER 497 -1 EEMWI T H| 1|47
HEEER 497 -1 EEMWI T H| 1|47
HEEER 497 -1 EEMWI T H| 1|47
HEEER 497 -1 EEMWI T H| 1|47
HEEER 498 -1 EESWI T TH| 5 |19
HEEER 498 -1 EESWI T H| 5 |19
HEEER 498 -1 ZEMWI T TH| 5 |19
HEEER 498 -1 ZEMWI T H| 5 |20
S| 498 - 1 FESHTTH| 5 |24
HEEES| 498 -5 BESWITH| 5 |25
HEEES| 498 -5 BESWITH| 5 |25
HEEES| 498 - 6 BESWI T H| 5 |22
HREEE| 498 - 10 BESWITH| 6| 3
HREEE| 498 - 10 BESWITH| 6| 3
HREEE| 498 - 10 BESHITH| 6| 4
HREEER| 498 - 10 BEUHTH| 6 | 4
HREEER| 498 - 12 BESWITH| 5 |18
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eS| 498 - 12 ZEENTTH| 5 |18
| 499 - 1 ZESWI T H| 5 |20
| 499 - 1 ZESWT T H| 5 |21
| 499 -3 ZESWIZTH| 6 | 1
| 499 -3 ZESWI ZTH| 6| 6
| 499 -5 ZESWI ZTH| 5| 3
| 499 -6 ZESWI ZTH| 5| 3
e 601 -1 ZEEWM—TH| 5 |14
| 501 -1 ZESWT T H| 5 |11
HEEES| 501 -4 ZEMWI T H| 5 |14
HEEES| 501 - 7 ZEMWI ZTH| 5| 6
R 502 - 1 BEENT T H| 3 |42
R 502 - 1 BEENT T H| 3 |42
R 502 - 1 BEENT T H| 3 |42
HEEER 502 -1 BEMWIZTH| 4| 3
HEEER 502 -1 BEMWIZTH| 4| 3
HEEER 502 -1 EEMWI T H| 4 | 3
HEEER 502 -1 EESWI T H| 4 | 3
HEEER 502 -1 EEMWI T TH| 4 | 3
HEEER 502 -1 EEMWI T TH| 4 | 3
HEEER 502 -1 EEMWI T H| 4 | 3
HEEER 502 -1 EESWI T H| 4 | 3
HEEER 502 -1 EEMWI T TH| 4 | 3
HEEER 502 -1 EEMWI T TH| 4 | 3
R 502 - 1 FECHITH| 4 | 3
R 502 - 1 FECHITH| 4 | 3
R 502 - 1 FECHITH| 4 | 3
R 502 - 1 FECHITH| 4 | 3
R 502 - 1 FECHITH| 4 | 3
R 502 - 1 FECHITH| 4 | 3
R 502 - 1 FECHITH| 4 | 3
S| 502 - 1 BESHT T H| 4 |27
S| 502 - 1 BESHT T H| 4 |27
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| 502 - 1 SN T H| 4 |27
| 502 - 1 BESWI T H| 4 |27
| 502 - 1 BESWI T H| 4 |27
| 502 - 1 ZESWT T H| 4 |31
HERE 503 -1 ZEEN—TH| 4 |39
MR 503 -1 ZEEN—TH| 4 |39
HERE 503 -1 ZEEN—TH 4 |39
| 503 - 1 ZESWIZTH| 6 | 9
| 503 - 1 ZESWTZTH| 6 |10
HEEER 503 - 1 ZESWIZTH| 6 |10
HEEER 503 - 1 ZESWIZTH| 6 |10
HEEER 503 - 1 ZESWIZTH| 6 |10
HEEEL 503 - 1 ZESWITH| 6 |11
HEEEL 503 - 1 ZESWIZTH| 6 |12
HEEES| 505 -3 ZESWI T H| 6 |14
HEEER 509 - 1 ZESWI T H| 6 |18
R 510 LM TH| 1L |22
R 510 LM TH| 1 |23
HEEES| 510 -3 EEMWI T H| 1 |26
HEEER 511 -1 EESWI T H| 1 |30
HEEER 511 -1 EESWI T H| 1 |36
HEEER 514 -1 EEMWI T H| 1 |37
R 516 BESWITH| 1| 6
R 516 BESWITH| 1| 6
HEEES| 515 ZEEWMTTH| 1| 6
S| 515 -1 FEYHITH| 1| 5
| 515 -3 FEYHITH| 1| 5
S| 515 -4 FEYHITH| 1| 5
| 515 -5 FEYHITH| 1| 5
| 515 -6 FEYHITH| 1| 5
R 518 LM TH| 1 |10
HEEES 518 ZELHT T H| 1|10
HEEES 518 ZELHT T H| 1|10
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HHEEER| 518 EEZOTZTH| 1 |10
hEEEL| 518 ZESHT T H| 1|10
hEEEL| 518 ZESHT T H| 1|10
hEEEL| 518 ZESHT T H| 1|10
hEEEL| 518 ZESHT T H| 1|11
hEEEL| 518 ZESHT T H| 1|11
HEEEL| 518 ZESHT T H| 1|11
hEEEL| 518 EESWT T H| 1|17
| 520 - 1 ZESWIZTH| 1 |20
HEEES | 520 -3 ZESWITH| 1 |21
HEEES | 520 -3 ZESWITH| 1 |21
e 522 -1 ZESWI T H| 2 |41
e 522 -1 BESWI T H| 2 |41
e 522 -1 BESWI T H| 2 |41
HEEES | 522 -3 ZEMWI T H| 2 |35
HEEES | 522 -3 ZEMWI T H| 2 |35
HEEES| 522 -3 ZEMWI T H| 2 |35
R 523 LM TH| 3 |18
HEEER 523 -1 EEMWI T TH| 3| 7
HEEER | 523 -3 ZESWI " TH| 3| 8
HEEES| 523 -4 EESWI T TH| 3| 9
HEEER| 523 -5 EESWI T H| 3 |11
HEEER | 523 -6 EEMWI T H| 3 |12
HEEEL | 523 -6 EESWI T H| 3 |12
| 523 -6 YR TH| 3 |13
HEEES| 523 - 7 YR TH| 3 |14
| 523 -8 YR TH| 3 |14
| 523 -9 YR TH| 3 |14
FREEEL 523 - 10 YR TH| 3 |14
FREEEL 523 - 10 YR TH| 3 |14
FREEEL 523 - 10 YR TH| 3 |14
HReEEL 523 - 11 YR TH| 3 |14
HReEEL 523 - 11 YR TH| 3 |14
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HhFB| 523 - 11 ZEZOTTH| 3 |14
B 523 - 11 ZEENT-TH 3 |15
hFB| 523 - 11 ZEENT-TH 3 |15
| 523 - 11 ZESWTZTH| 3 |15
HeEE| 523 - 13 ZESWTZTH| 3 |15
HeEE| 523 - 15 ZESWI T H| 3 |18
HeEE| 523 - 15 ZESWI T H| 3 |18
HeEE| 523 - 15 ZESWI T H| 3 |18
HEEE| 523 - 17 ZESWI T H| 3 |18
| 523 - 17 ZEEN_TH 3 |18
| 523 - 18 ZEENTH 3 |18
| 523 - 19 ZEENTH 3 |18
| 523 - 20 ZEEN_TH| 3 |21
| 523 - 20 FEEN_TH| 3 |21
| 523 - 20 FEEN_TH| 3 |21
| 523 - 20 FEEN_TH| 3 |21
HeEE| 523 - 20 EESWI T H| 3 |21
R 523 - 20 EEMWI T H| 3 |21
WL 723 -1 EESWI T TH| 1| 3
WL 723 -1 EESWI T TH| 1| 3
e 723 -1 EESWI T TH| 1| 3
WL 723 -1 EESWI T TH| 1| 3
R 725 - 1 mEEIT—THE| 2 | 3
R 725 - 1 mEEIT—TH| 2 | 3
HEEES| 737 -6 BRI —TH| 2 |16
HeEEs| 833 -3 EEH—TH| 1 |30
HeEEs| 833 -3 EEH—TH| 1 |30
HeEEs| 833 -3 EEH—TH| 1 |30
HReEEg| 833 - 10 BRI —TH| 1 |25
HReEEg| 833 - 10 BRI —TH| 1 |25
HReEEg| 833 - 10 BRI —TH| 1 |25
HeEER| 833 - 12 FEM—TH| 1 |24
HeEER| 833 - 12 FEM—TH| 1 |24
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TR 373 -1 Bmer—TH| 7 | 3
ThEEs| 373 -1 BmET—TH| 7 | 3
s 373 -2 BEET—TH] 7 | 1
s 373 -2 BEET—TH] 7 | 1
s 373 -6 BmET—TH| 7 ] 6
s 373 -6 BmET—TH| 7 ] 6
s 373 -6 BmET—TH| 7 ] 6
HEEER| 1279 PERT—TH| 9 | 5
T 3242 -3 BEHETTH| 9 | 3
heEER| 3242 - 3 EHETZTH| 9 | 3
heEER | 3242 - 3 EHETZTH| 9 | 3
eEER | 3242 - 3 EHETZTH| 9 | 3
eEER | 3242 - 3 EHETZTH| 9 | 3
heEER| 3242 - 3 EHETTZTH| 9 | 5
heEER| 3242 - 3 EHETZTH| 9 | 5
TheEER| 3247 - 1 EHETT"TH| 9 |47
eS| 3247 - 1 BEHETZTH| 9 |47
eS| 3247 - 1 BEHETZTH| 9 |47
e 3247 - 1 BEHETZTH| 9 |47
e 3247 - 1 BEHETZTH| 9 |48
eS| 3247 - 1 BEHETZTH| 9 |48
eS| 3247 -4 BEHETZTH| 9 |41
eS| 3247 -4 BEHETZTH| 9 |42
eS| 3247 - 6 EHETZTH| 8 | 8
TheEES | 3247 - 6 BHET=TH| 8 |12
RS | 3247 - 9 BHET=TH| 9 |35
D) 3247 - 10 BHET=TH| 8 |20
MR 3247 - 11 BHET T H| 8 |18
D) 3247 - 12 BHET=TH| 8 |17
D) 3247 - 12 BHET=TH| 8 |17
D) 3247 - 12 BHET=TH| 8 |17
D) 3247 - 12 BEr—=TH| 8 |17
| 3247 - 14 BEr—=TH| 9 |33
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| 3248 BHETTH| 8 | 5
TEEES| 3248 — 1 BHETZTH| 8 |17
TEEES| 3248 — 1 BHETZTH| 8 |17
T 3248 - 4 BHETTH| 8 | 5
T 3248 -5 BHETTH| 8 | 5
T 3248 -5 BHETTH| 8 | 5
WheEEs| 3248 - 7 BHET -TH| 8 | 5
eS| 3249 - 3 BHET—TH| 8 | 3
eS| 3249 - 3 BHET—TH| 8 | 3
| 3249 - 3 BHETTH| 8 | 3
| 3249 - 3 BHETTH| 8 | 3
| 3251 - 1 BEHEETZTH| 8 |39
WS 3253 BEHETZTH| 8 |26
| 3253 - 1 BHETZTH| 8 |24
) 3253 - 3 BHETZTH| 8 |27
| 3253 - 5 BHEETZTH| 8 |23
| 3253 - 6 BHEETZTH| 8 |23
ThEEHE| 3255 — 1 BHETTH| 9 | 2
ThEETES | 3256 - 2 BHETTH| 9 | 3
ThEETES | 3256 - 2 BHET-TH| 9 | 3
| 3265 - 1 BEHEETZTH| 9 |13
| 3265 - 1 BHEETZTH| 9 |17
| 3265 - 1 EHEETZTH| 9 |18
WL 3267 BEHEET T H| 23 |42
IHh=EER | 3267 EHEETZTH| 23 |42
TheEER| 3268 - 1 EHEETZTH| 23| 9
TheEER| 3274 - 4 BEHEETZTH| 23 |17
TheEER| 3283 - 1 EHEETZTH| 23 |19
TheEER| 3283 - 1 BEHEETZTH]| 23 |20
TheEER| 3283 - 1 EHEETZTH| 23 |32
TheEER| 3283 - 1 EHEETZTH| 23 |32
HheEER| 3283 - 1 BEEITZTH]| 23 |32
HheEER| 3283 - 1 BEEITZTH]| 23 |32
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| 3299 - 1 BEHET T H| 22 |39
TEEES| 3299 - 1 BHITZTH| 22 |40
TEEES| 3299 - 1 BHET =T H| 22 |41
TEEES| 3299 - 12 BHITZTH| 22 |42
TEEES| 3299 - 12 BEHET T H| 22 |42
TEEES| 3299 - 15 BHEITZTH| 23 |26
TEEES| 3299 - 15 BHITZTH| 23 |26
EEES| 3299 - 19 BEHET T H| 23 |25
EEES| 3299 - 38 BHITZTH| 22 |43
MR 3299 - 39 BEHET T H| 22 |44
TS| 3361 BHET—TH| 3 |24
TS| 3361 BHET—TH| 3 |24
TS| 3361 FHET—TH| 3 |24
eS| 3361 FHET—TH| 3 |24
TS| 3361 BHET—TH| 3 |24
D] 3445 -4 BEmnmr—TH| 5 |19
D] 3445 -4 BEmmr—TH| 5 |26
eS| 3721 - 1 PRIFET—T H| 7 |59
TR | 3753 - 2 PRIFEET—TH| 7 |17
TR | 3753 - 2 PRIFEET—TH| 7 |17
TR | 3753 - 2 PRIFEET—TH| 7 |17
TR | 3753 - 2 PRIFEET—TH| 7 |17
TR | 3753 - 2 PRIFEET—TH| 7 |17
TR | 3753 - 2 PRIFEET—TH| 7 |17
R 3753 - 2 PRIFEET—TH| 7 |17
R 3753 - 2 PRIFET—TH| 7 |17
R 3753 - 2 PRIFEET—TH| 7 |17
R 3753 - 2 PRIFET—TH| 7 |17
R 3753 - 2 PRIFEET—TH| 7 |17
R 3753 - 2 PRIFET—TH| 7 |17
R 3753 - 2 PRIFEET—TH| 7 |17
heEER | 3753 - 2 PIFET—TH| 7 |17
heEER | 3753 - 2 PIFET—TH| 7 |17
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3753 - 2 FFIT—TR| 7 |17
3753 - 2 fpFIT—TH| 7 |17
3753 - 2 fpFIT—TH| 7 |17
3753 - 2 fpFEIT—TR| 7 |17
3753 - 2 fpFEIT—TR| 7 |17
3753 - 2 fpFIT—TH| 7 |17
3753 - 2 fpFEIT—TH| 7 |22
3753 - 2 fpFEIT—TH| 7 |22
3753 - 2 fpFEIT—TH| 7 |22
3753 - 2 T —TH| 7 |22
3753 - 2 T —TH| 7 |22
3753 - 2 T —TH| 7 |22
3753 - 2 T —TH| 7 |22
3753 - 2 T —TH| 7 |22
3753 - 2 T —TH| 7 |22
R 3753 - 2 T —TH| 7 |22
TR 3753 - 2 T —TH| 7 |22
TR 3753 - 2 T —TH| 7 |22
IR 3753 - 2 T —TH| 7 |22
TR 3753 - 2 T —TH| 7 |22
TR 3753 - 2 T —TH| 7 |22
TR 3753 - 2 T —TH| 7 |22
TR 3753 - 2 T —TH| 7 |22
TR 3753 - 2 T —TH| 7 |22
PhEER| 3753 - 2 FRERT—TH| 7 |22
| 3753 - 2 MFEET—TH| 7 |22
| 3753 - 5 MFEET—TH| 7 | 3
PhEER| 3753 - 5 FRERT—TH| 7 | 3
| 3753 - 5 MFEET—TH| 7 | 3
| 3753 - 5 MEET—TH| 7 | 3
W 3753 - 5 PR TR 7 )3
5| 3753 - 5 MFEET—TH| 7 | 3
| 3753 - 6 MEET—TH| 7 | 1
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HheEER| 3753 - 6 wEIT—TH| 7 | 1
HeEER| 3753 - 6 wHERT—TH| 7 | 1
HeEER| 3753 - 6 wHEET—TH| 7 | 3
eEER| 3753 ~ 7 WHERT—TH| 7 | 7
eEER| 3753 ~ 7 FRIFERT—TH| 7 |10
EEES| 3753 - 21 WERT—TH| 7 | 5
HheEER | 3754 HIERT T H| 6 |69
HeEER | 3754 HIFERT T H| 6 |69
HheEER | 3754 HIERT T H| 6 |69
| 3754 FRIFET T H| 6 |69
| 3754 FRIFET T H| 6 |69
| 3754 FRIFET T H| 6 |69
| 3754 FRIFEET T H| 6 |69
| 3754 FRIFEET T H| 6 |69
| 3754 FRIFEET T H| 6 |69
) 3763 FRIFEET T H| 5 |15
eS| 3767 - 3 FEAET T H| 7 |21
eS| 3767 - 3 FFEAET T H| 7 |21
eS| 3767 - 3 FEAET T H| 7 |21
eS| 3780 - 1 FIFEET T H| 6 |60
eS| 3780 — 1 FIFEET T H| 6 |60
eS| 3780 - 1 FIFEET T H| 6 |60
TR | 3782 - 2 FIFEAT T H| 6 |64
TR | 3782 - 2 FIFEET T H| 6 |66
R 3782 - 2 MIFIT—TH| 6 |66
R 3782 - 2 T —TH| 6 |68
R 3782 - 2 T —TH| 6 |68
R 3783 - 2 FFEET—TH| 8 |55
R 3783 - 2 MFEET—TH| 8 |55
R 3783 - 2 MFEET—TH| 8 |55
D] 3790 - 1 T ZTH| 8 |28
ThEEES| 3790 - 1 PIFET T H| 8 |28
ThEEES| 3790 - 1 PIFET T H| 8 |28
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3790 -6 fIFET T H| 7 |38
3790 - 6 MIFET T H| 7 |38
3790 - 6 MIFET T H| 7 |38
3790 - 6 MIFET T H| 7 |38
3790 - 6 MIFET T H| 7 |38
3790 - 6 MIFET T H| 7 |38
3790 - 6 MIFEET T H| 7 |38
3790 - 6 MFEET T H| 7 |38
3790 - 6 MFEET T H| 7 |38
3790 - 6 MIFEET T H| 7 |38
3790 - 6 MIFEET T H| 7 |38
3790 - 6 MIFEET T H| 7 |38
3790 - 6 MIFEET ZTH| 7 |55
3790 - 6 MIFEET ZTH| 7 |55
3790 - 6 MIFEET T H| 7 |55
eS| 3790 - 6 FRIFET T H| 7 |55
eS| 3790 - 6 FJEET T H| 7 |55
eS| 3790 - 6 PR T H| 7 |55
TS| 3790 - 6 FJEET T H| 7 |55
eS| 3790 - 6 FJEET T H| 7 |55
eS| 3790 - 6 PR T H| 7 |55
eS| 3790 - 6 PR T H| 7 |55
TS| 3790 - 6 FJEET T H| 7 |55
eS| 3790 - 6 FJEET T H| 7 |55
RS | 3790 - 6 MFERT T H| 7 |57
RS | 3790 - 6 MERT T H| 7 |57
RS | 3790 - 6 MFERT T H| 7 |57
RS | 3790 - 6 MERT T H| 7 |57
RS | 3790 - 6 MFERT T H| 7 |57
RS | 3790 - 6 MERT T H| 7 |57
RS | 3790 - 6 MFERT T H| 7 |57
ThEEES | 3790 - 6 MR T H| 7 |57
ThEEES | 3790 - 6 MR T H| 7 |57
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3790 -6 MIFET T H| 7 |57
3790 - 6 MIFEET T H| 7 |57
3790 - 6 MIFEET T H| 7 |57
3790 - 6 MIFEET T H| 7 |57
3790 - 6 MIFEET T H| 8 |37
3790 - 6 MIFET T H| 8 |37
3790 - 6 MIFEET T H| 8 |37
3790 - 12 MIFET ZTH| 7 |60
3790 - 15 fIFEET T H| 8 |37
3790 - 15 MIFEET T H| 8 |37
3790 - 15 MIFEET T H| 8 |37
3790 - 17 MIFEET T H| 8 |37
3790 - 19 MIFEET T H| 8 |41
3790 - 19 MIFEET T H| 8 |41
3790 - 19 MIFEET T H| 8 |41
eS| 3790 - 19 PRIFET T H| 8 |42
eS| 3790 - 24 FFERET T H| 9 | 8
RS | 3790 - 28 FIFEET T H| 9 |16
TR | 3790 - 31 FIFEET T H| 9 |19
TR | 3790 - 31 FIFEET T H| 9 |19
eS| 3790 - 35 FIFEET T H| 9 |30
eS| 3790 - 36 PR T H| 9 |50
eS| 3790 - 36 PR T H| 9 |50
eS| 3790 - 36 PR T H| 9 |50
RS | 3790 - 36 FJERT T H| 9 |50
RS | 3790 - 36 FJERT T H| 9 |50
RS | 3790 - 36 FJERT T H| 9 |50
RS | 3790 - 36 FJERT T H| 9 |50
RS | 3790 - 36 FJERT T H| 9 |50
RS | 3790 - 36 FJERT T H| 9 |50
ThEEES | 3790 - 52 FFERT T H| 9 | 2
ThEEES | 3790 - 64 MFERT T H| 9 | 5
R 3790 - 122 FERT T H| 9 | 3
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HheEER| 3790 - 127 MIFEET - TH| 9 |52
FEEES| 3790 - 127 PRI TH| 9 |53
EEES| 3790 - 128 FRIFRT T H| 9 |49
TR | 3831 BHIT—TH| 6 |48
eS| 3868 BHIT—TH| 8 |27
HEEES | 3869 ~ 7 BHIT—TH| 8 |27
TR | 3873 BHIT—TH| 8 |26
e | 3873 BHIT—TH| 8 |26
e | 3873 BHIT—TH| 8 |26
TR | 3873 FHET—TH| 8 |26
e | 3873 FHET—TH| 8 |26
e | 3873 FHET—TH| 8 |26
D] 3875 - 1 Emnmr—TH| 8 |14
D] 3875 - 1 Emmr—TH| 8 |14
| 3875 - 2 BEmnr—TH| 8 |15
| 3876 - 2 Bmnr—TH| 7 |27
R 3876 - 2 BEmnmr—TH| 8 |14
| 3876 - 2 BEmnmr—TH| 8 |14
| 3876 - 2 BEmnmr—TH| 8 |14
| 3876 - 3 BEmmr—TH| 7 | 5
| 3876 — 4 BEmmr—TH| 7 | 6
D] 3877 ~ 1 Bmmr—TH| 7 |23
| 3878 ~ 1 BEmmr—TH| 8 |18
| 3878 - 3 BEmnmr—TH| 8 |16
eS| 3878 ~ 4 BHET—TH| 8 |16
eS| 3878 - 5 BHET—TH| 8 |20
RS | 3878 — 7 BHET—TH| 7 |24
RS | 3878 — 7 BHET—TH| 7 |24
RS | 3878 — 7 BHET—TH| 7 |24
RS | 3878 — 7 BHET—TH| 7 |24
RS | 3878 — 7 BHET—TH| 7 |26
WheEEs | 3878 ~ 7 BHET—TH| 8 |20
WheEEs | 3878 ~ 7 BHET—TH| 8 |20
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=R 3878 — 7 B mir—TH| 8 |20
eEES| 3878 ~ 7 BHIT—TH] 8 |20
eEES| 3878 ~ 7 BHIT—TH| 8 |20
TeEES| 3878 - 8 BHIT—TH] 8 |17
eEES| 3881 - 3 BHIT—TH| 8 |17
TEEES | 3883 ~ 1 BHIT—TH| 7 |19
THeEES | 3884 - 8 BHT—TH| 7 |18
TEEES| 3947 — 1 BHIT—TH| 4 |19
TEEES| 3947 — 1 BHIT—TH| 4 |20
D] 3947 - 1 BEmnmr—TH| 4 |23
eS| 3948 BB =T H| 16 | 16
eS| 3948 BHET =T H| 16 |22
eS| 3948 BB =T H| 16 |26
eS| 3948 BB =T H| 16 |26
eS| 3948 BB =T H| 16 |28
eS| 3948 BUmET =T H| 16 |37
eS| 3948 BHET =T H| 16 |37
eS| 3948 BUHET =T H| 16 |40
D] 3948 - 1 Bmmr—TH| 4 |14
D] 3948 - 1 Bmmr—TH| 4 |14
D] 3948 - 1 Bmmr—TH| 4 |14
D] 3948 - 2 BEmmr—TH| 4 |18
R 3948 - 3 Bmmr—TH| 4 | 7
TS| 3950 BEHET—TH| 4 |26
R 3950 RHET—TH| 4 |26
R 3950 BHET—TH| 4 |27
R 3950 BmET—TH| 4 |27
R 3950 BHET—TH| 4 |27
R 3950 BmET—TH| 4 |27
R 3950 BHET—TH| 4 |27
R 3950 BmET—TH| 4 |27
eS| 3950 BHET—TH| 4 |27
heEES | 3953 - 2 BHET—TH| 4 |34
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HheEER| 3955 — 1 BEmEIT—TH| 4 | 6
THEEES | 3956 BEmHET—TH| 4 | 3
| 3956 BHEET—TH| 4 | 3
| 3956 BmET—TH| 4 | 3
TEEES| 3957 — 1 BHIT—TH] 3 |10
| 3957 - BHIT—TH] 3 |41
HEEER | 3958 - 2 BHIT—TH] 3 |41
HEEER | 3960 - 2 BHIT—TH| 3 |27
HEEER | 3960 - 2 BHIT—TH| 3 |29
R 3960 - 3 BEmir—TH| 3 |16
S| 3960 - 5 BEmir—TH| 3 |16
R 3960 - 5 BEmnr—TH| 3 |27
S| 3960 - 6 BEmnmr—TH| 3 |16
TS | 3960 — BFHET—TH| 3 |27
TS | 3960 — BHET—TH| 3 |27
D] 3966 - 1 BE@Ei—TH| 6 |41
R 3970 - 2 BE@Ei—TH| 6 |41
R 3973 - 2 BEmmr—TH| 6 |37
eS| 3975 BEHET—TH| 6 |36
eS| 3975 BEHET—TH| 6 |36
eS| 3975 BEHET—TH| 6 |36
eS| 3975 BEHET—TH| 6 |36
eS| 3975 BEHET—TH| 6 |36
eS| 3975 BEHET—TH| 6 |36
L 3975 BHET—TH| 6 |36
L 3975 BHET—TH| 6 |36
L 3975 BHET—TH| 6 |36
L 3975 BHET—TH| 6 |36
L 3975 BHET—TH| 6 |36
L 3975 BHET—TH| 6 |36
L 3975 BHET—TH| 6 |36
eS| 3975 FHET—TH| 6 |36
eS| 3975 FHET—TH| 6 |36
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TH=EER| 3975 BHET—TH| 6 |36
eS| 3975 BHIT—TH| 6 |36
HeEER | 3975 BHIT—TH| 6 |36
eS| 3975 BHIT—TH| 6 |36
RS | 3975 BHIT—TH| 6 |36
eS| 3975 BHIT—TH| 6 |36
eS| 3975 BHIT—TH| 6 |36
eS| 3975 BHIT—TH| 6 |36
eS| 3975 BHIT—TH| 6 |36
eS| 3975 FHET—TH| 6 |36
eS| 3975 FEHET—TH| 6 |36
eS| 3975 FEHET—TH| 6 |36
R 3981 - 2 BEmnr—TH| 3 |39
R 3981 - 3 BEmiy—TH| 3 |41
S| 3981 - 3 BEmEi—TH| 3 |41
MR 3981 -4 BEmnmr—TH| 3 |32
D] 3981 -4 BEmnmr—TH| 3 |32
MR 3981 - 5 B@mr—TH| 3 | 1
MR 3981 - 5 BEmmr—TH| 3 |32
MR 3981 - 5 BEmnmr—TH| 3 |32
MR 3981 - 5 BEmnmr—TH| 3 |32
MR 3981 - 5 BEmnmr—TH| 3 |32
R 3981 - 6 BEmmr—TH| 3 |33
R 3985 - 2 BE@Emr—TH| 6 |62
eS| 3985 - 2 BHET—TH| 6 |62
eS| 3985 - 2 BHET—TH| 6 |62
TS| 3986 - 3 BHET—TH| 6 |62
TR | 3986 — 4 BHET—TH| 6 |62
TR | 3986 — 4 BHET—TH| 6 |62
D] 3994 - 1 BEmT—TH| 1 | 7
ThEEES | 3994 - 2 BEET—TH| 1 | 2
hEEES | 3994 - 2 BHET—TH| 1 | 2
WhEEES | 4017 -4 BET =T H| 17 |25
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S| 4019 HHET—TH| 1| 8
eS| 4019 BHIT—TH] 1 ]10
eS| 4020 BHIT—TH] 1 |12
eS| 4022 BHIT—TH] 1 |17
eS| 4022 BHIT—TH| 1 |18
TEEES| 4023 - 1 BHT—TH] 1 |21
EEER | 4023 - 2 BHIT—TH] 1 |20
e8| 4024 - BHEIT—TH| 1 |35
EEES| 4025 - 1 BHI—TH] 2 |31
D] 4025 - 1 BEmir—TH| 2 |31
TR | 4025 - 3 BEHETZTH| 17| 1
R 4025 - 5 Bmmr—TH| 2 | 2
TR | 4028 - 3 BEHET T TH| 17 |22
TR | 4028 - 3 BEHET T TH| 17 |23
D] 4030 - 1 BEmnmr—TH| 2 |13
hEEHS | 4040 BB =T H| 18 |20
eS| 4040 -4 BEHETZTH| 18 |22
eS| 4040 -4 BEHETZTH| 18 |22
eS| 4040 -4 BEHETZTH| 18 |22
eS| 4040 -4 BEHETZTH| 18 |22
eS| 4040 -4 BEHETZTH| 18 |22
eS| 4040 -4 BEHETZTH| 18 |22
eS| 4040 - 6 BEHETZTH| 19 |49
R 4045 - 6 BEmmr—TH| 4 |10
RS | 4045 - 6 BHE—TH| 4 |11
RS | 4045 - 6 BHE—TH| 4 |11
heEES | 4045 - 7 BHE—TH| 4 |11
) 4046 BEIT =T H| 19 |41
S 4050 BET =T H| 19 |47
S 4050 BEIT =T H| 19 |47
S 4050 BET =T H| 19 |47
TR 4050 BET =T H| 19 |47
TR 4050 BET =T H| 19 |47
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TS| 4051 BEHET T H| 19 | 2
eS| 4051 BEHET T H| 19 | 2
eS| 4051 BEHET T H| 19 | 2
eS| 4051 BEHET T H| 19 | 2
S| 4052 BHITZTH| 19 |15
S| 4052 BHITZTH| 19 |15
S| 4052 BHITZTH| 19 |15
S| 4052 BHITZTH| 19 |15
S| 4052 BHTZTH| 19 |16
eS| 4052 - 5 BEHET T TH| 18 |11
eS| 4052 - 5 BEHET T TH| 18 |11
eS| 4053 BHET =T H| 19 |17
eS| 4055 - 1 EHET T TH| 19 |23
eS| 4056 - 1 BEHET T H| 20 |28
eS| 4056 - 2 BEHET T TH]| 20 |22
TR | 4056 - 2 BEHET T H]| 20 |22
D) 4056 - 13 BEHETZTH| 20| 7
D) 4056 - 13 BEHETZTH| 20| 7
eS| 4057 BUHET =T H| 20 |14
eS| 4057 BUHET =T H| 20 |16
eS| 4057 - 6 BEHET =T H| 20 |21
TS | 4060 - 3 BEHETZTH| 19 |38
eS| 4061 - 1 BEHETZTH| 19 |28
eS| 4061 - 5 EHETZTH| 19 |33
RS | 4062 - 8 BEIT_=TH| 22| 2
RS | 4062 - 8 BE_=TH| 22| 2
MR 4062 - 11 BEmT—=TH| 22| 4
TheEES 4064 - 1 BEIT =T H| 22 | 46
)| 4065 BHET =T H| 22 |35
S 4080 BHET =T H| 21 |23
) 4082 BHET =T H| 21 |18
eS| 4089 BT =T H| 10 |30
ThEEES 4090 ~ 1 BET =T H| 10 |25
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Hh=EHR | 4095 BEEITZ=TH| 12 |23
TS| 4096 BHITZTH| 12 |28
TR 4096 - 1 BHET - TH| 12 | 1
TEEED| 4101 BHETZTH| 11 |18
e 4102 - 1 BEHET - TH| 12| 6
e8| 4102 -5 BHET - TH| 12| 7
e8] 4103 - 2 BEHET T H| 12 |12
TR 4105 - 1 BEHET T H| 13 |31
TR 4105 - 1 BEHET T H| 13 |31
hEEES | 4107 BUHET =T H| 13 |34
hEEES | 4107 BUHET =T H| 13 |34
hEEES | 4107 BUHET =T H| 13 |34
hEEES | 4109 BB =T H| 13 |38
hEEES | 4109 BB =T H| 13 |38
heEEs | 4111 BUHET =T H| 11 |22
heEEs | 4111 BUHET =T H| 11 |22
s | 4111 BUHET =T H| 11 |22
s | 4111 BUHET =T H| 11 |22
eS| 4116 - 3 EHETZTH| 18| 9
eS| 4116 - 3 BEHETZTH| 18| 9
eS| 4116 - 3 BEHETZTH| 18| 9
eS| 4116 - 3 BEHETZTH| 18| 9
eS| 4116 - 3 BEHETZTH| 18 |12
eS| 4116 - 3 BEHETZTH| 18 |12
TheEES | 4116 - 3 BET—TH| 18 |15
TheEES | 4116 - 3 BET=TH| 18 |15
| 4121 BHITZTH| 13 |19
WheEEs 4121 - 3 BEI=TH| 13 |21
D 4123 BHET=TH| 6 |13
D 4123 BHET=TH| 6 |21
D 4123 BHET=TH| 6 |21
T 4126 EHET-TH| 6 | 6
T 4126 EHET-TH| 6 | 6
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| 4126 BEHET - TH| 6 | 6
eS| 4128 BEHETTH| 6 | 1
eS| 4129 BHET - TH| 4 | 1
eS| 4129 BHET - TH| 4 | 1
eS| 4134 BHETTH| 4 | 7
eS| 4137 BEHET - TH| 4 |10
eS| 4137 BEHET T H| 4 |10
eS| 4137 BHET T TH| 4 |11
=8| 4138 - 2 BEHET T H| 4 |18
eS| 4138 - 2 EHETT"TH| 4 |18
eS| 4145 BHET =T H| 14 |27
eS| 4145 BHET =T H| 14 |27
eS| 4145 BB =T H| 14 |27
eS| 4145 BB =T H| 14 |27
eS| 4145 BUHET =T H| 14 |27
WhEEES | 4147 BB =T H| 14 |33
TS| 4156 - 2 BEHETZTH| 15| 4
TS| 4156 - 2 BEHETZTH| 15| 7
TS| 4156 - 2 BEHETZTH| 15| 7
TS| 4156 - 2 BEHETZTH| 15| 7
TS| 4156 - 2 BEHETZTH| 15 |15
TS| 4156 - 2 BEHETZTH| 15 |28
| 4164 BEHETZTH| 3| 1
| 4164 BEHETZTH| 3| 1
| 4164 BHETZTH| 3 | 1
TheEES 4181 - 1 BET_-TH| 16| 5
TheEES 4181 - 1 BET_TH| 16| 5
TheEES 4181 - 1 BET_-TH| 16| 5
TheEES 4181 - 1 BET_TH| 16| 5
heEES | 4181 - 2 BEIT-TH| 16 |41
heEES | 4181 - 2 BEIT-TH| 16 |41
WheEES | 4181 - 2 BEIT = TH| 16 |41
WheEES | 4181 - 2 BEIT = TH| 16 |41
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TR 4181 - 2 BEHET T H| 16 |41
T 4181 -3 BEHET T H| 16 | 3
e 4184 - 1 BHETTH| 1 | 1
T 4184 - 2 BHETTH| 1| 3
eS| 4185 BHETTH| 1| 5
eS| 4185 BHETTH| 1| 5
eS| 4185 BHET-TH| 1| 5
eS| 4185 BHET-TH| 1| 5
eS| 4185 BEHET - TH| 1 |23
HheEER | 4202 - 3 BEHETTZTH| 5 |19
heEER | 4202 - 3 BEHET"TH| 5 |19
HheEER | 4202 - 3 BEHETTZTH| 5 |19
eS| 4202 - 6 BEHET"TH| 5 |22
eEER | 4202 - 7 EHET"TH| 5 |23
TR | 4202 - 8 EHET " TH| 5 |24
THeEER | 4202 - 8 EHET " TH| 5 |24
TR | 4202 - 8 EHETZTH| 5 |24
) 4203 BEHETZTH| 5 |24
TR | 4207 - 3 FFERET T H| 3 |12
s | 4211 FIFEET T H| 3 |20
s | 4211 FIFEET T H| 3 |20
s | 4211 FIFEET T H| 3 |20
s | 4211 FIFEET T H| 3 |20
s | 4211 FIFEET T H| 3 |20
eS| 4211 MIFEET T H| 3 |20
eS| 4211 FIFEET T H| 3 |20
WheEEs | 4213 PR T H| 3 |25
WheEEs| 4215 PIFEET T H| 3 |29
WheEEs| 4215 FIFEET T H| 3 |29
WheEEs| 4215 PIFEET T H| 3 |29
WheEEs| 4215 FIFEET T H| 3 |29
WheEEs| 4215 PIFET T H| 3 |29
WheEEs| 4215 PIFET T H| 3 |29
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TH=EER | 4215 MIFEET - TH| 3 |29
D 4215 IERTZTH| 3 |29
D 4215 IERTZTH| 3 |29
D 4215 IERTZTH| 3 |29
R | 4231 BEHET T H| 7 |31
TR | 4233 BHET - TH| 7 |27
TR | 4233 BHETTH| 7 |27
=8| 4235 - 3 BEHETTH| 7 |10
e8| 4235 - 3 BEHETTH| 7 |10
HheEER | 4235 - 3 BEHETZTH| 7 |10
eS| 4238 - 1 BEHETTH| 7 |11
=R | 4250 - 3 BEHETZTH| 7 |18
eS| 4467 - 2 PRIFER—T H| 6 |47
eS| 4467 - 2 FRIFER—T H| 6 |47
eS| 4467 - 2 FRIFER—T H| 6 |47
eS| 4467 - 2 PRIFER—T H| 6 |47
eS| 4467 - 2 MR —T H| 6 |47
eS| 4467 - 2 PR —T H| 6 |47
eS| 4467 - 2 PRI —T H| 6 |47
eS| 4467 - 2 MR —T H| 6 |47
eS| 4467 - 2 PR —T H| 6 |47
eS| 4467 - 2 PR —T H| 6 |47
)| 4566 FEEIT-TH| 9 | 5
eS| 4599 - 1 AT T H| 2 |24
R 4602 - 2 FREIT T H| 2 | 1
R 4602 - 2 FEIT T H| 2 | 5
R 4602 - 3 MFERT T H| 2 |27
R 4602 - 3 MIFERT T H| 2 |27
| 4606 - 1 MIERET T H| 1 |23
| 4606 - 1 MIFERET T H| 1 |23
| 4606 - 1 MIERET T H| 1 |23
| 4606 - 1 FRIEET T H| 1 |23
| 4622 -4 FRIEET T H| 1|11
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HheEER| 4622 - 19 MEETTH| 1| 1
TEEES | 4622 - 19 PERTTH| 1| 2
TEEES | 4622 - 19 PERTTH| 1| 3
TEEES | 4622 - 19 PERT—TH| 1 | 5
TEEES | 4622 - 19 FRIFRT T H| 1 |65
EEES | 4622 - 36 PRIFRTZTH| 1 |13
TEEES | 4622 - 47 FRIFRT T H| 1 |60
eS| 4623 PFERT—TH| 6 |48
eS| 4636 FRIFH—TH| 6 | 5
) 4636 MFEET—TH| 6 | 5
) 4636 MFEET—TH| 6 | 5
) 4636 MEIT—TH| 6 | 5
) 4636 MEIT—TH| 6 | 5
) 4636 MEET—TH| 6 | 5
) 4636 MEIT—TH| 6 | 5
) 4636 MEIT—TH| 6 | 5
) 4636 PRFEET—TH| 6 | 5
)| 4636 PRFEET—TH| 6 | 5
) 4636 PRIFET—TH| 6 | 5
) 4636 PRFEET—TH| 6 | 5
) 4636 PRFEET—TH| 6 | 5
)| 4636 PRFEET—TH| 6 | 5
) 4636 PRIFET—TH| 6 | 5
) 4636 PRFEET—TH| 6 | 5
eS| 4636 FRIFET—TH| 6 | 5
eS| 4636 FRIFET—TH| 6 | 5
eS| 4636 FRIFET—TH| 6 | 5
eS| 4636 FRIFET—TH| 6 | 5
eS| 4636 FRIFET—TH| 6 | 5
eS| 4636 FRIFET—TH| 6 | 5
eS| 4636 FRIFET—TH| 6 | 5
RS | 4636 MIFET—TH| 6 | 5
RS | 4636 MIFET—TH| 6 | 5
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H=EH | 4636 FRIFH—TH| 6 | 5
eS| 4636 FRIFEH—TH| 6 | 5
eS| 4636 FRIFEH—TH| 6 | 5
eS| 4636 FRIFH—TH| 6 | 5
eS| 4636 FRIFH—TH| 6 | 5
eS| 4636 FRIFH—TH| 6 | 5
eS| 4636 FRIFER—TH| 6 | 5
eS| 4636 FRIFEH—TH| 6 | 5
eS| 4636 FRIFH—TH| 6 | 5
) 4636 MFEET—TH| 6 | 5
) 4636 MFEET—TH| 6 | 5
) 4636 MEIT—TH| 6 | 5
) 4636 MEIT—TH| 6 | 5
) 4636 MEET—TH| 6 | 5
) 4636 MEIT—TH| 6 | 5
) 4636 MEIT—TH| 6 | 5
) 4636 PRFEET—TH| 6 | 5
)| 4636 PRFEET—TH| 6 | 5
) 4636 PRIFET—TH| 6 | 5
) 4636 PRFEET—TH| 6 | 5
) 4636 PRFEET—TH| 6 | 5
)| 4636 PRFEET—TH| 6 | 5
) 4636 PRIFET—TH| 6 | 5
) 4636 PRFEET—TH| 6 | 5
eS| 4636 FRIFET—TH| 6 | 5
eS| 4636 FRIFET—TH| 6 | 5
eS| 4636 FRIFET—TH| 6 | 5
eS| 4636 FRIFET—TH| 6 | 5
eS| 4636 FRIFET—TH| 6 | 5
eS| 4636 FRIFET—TH| 6 | 5
eS| 4636 FRIFET—TH| 6 | 5
RS | 4636 MIFET—TH| 6 | 5
RS | 4636 MIFET—TH| 6 | 5
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H=EH | 4636 FRIFH—TH| 6 | 5
eS| 4636 FRIFEH—TH| 6 | 5
eS| 4636 FRIFEH—TH| 6 | 5
eS| 4636 FRIFH—TH| 6 | 5
eS| 4636 FRIFH—TH| 6 | 5
eS| 4636 FRIFH—TH| 6 | 5
eS| 4636 FRIFER—TH| 6 | 5
eS| 4636 FRIFEH—TH| 6 | 5
eS| 4636 FRIFH—TH| 6 | 5
) 4636 MFEET—TH| 6 | 5
) 4636 MFEET—TH| 6 | 5
) 4636 MEIT—TH| 6 | 5
) 4636 MEIT—TH| 6 | 5
) 4636 MEET—TH| 6 | 5
) 4636 MEIT—TH| 6 | 5
) 4636 MEIT—TH| 6 | 5
) 4636 PRFEET—TH| 6 | 5
)| 4636 PRFEET—TH| 6 | 5
) 4636 PRIFET—TH| 6 | 5
) 4636 PRFEET—TH| 6 | 5
) 4636 PRFEET—TH| 6 | 5
)| 4636 PRFEET—TH| 6 | 5
) 4636 PRIFET—TH| 6 | 5
) 4636 PRFEET—TH| 6 | 5
eS| 4636 FRIFET—TH| 6 | 5
eS| 4636 PRIFEET—TH| 6 | 7
eS| 4636 PRIFEET—TH| 6 | 9
D] 4639 - 1 FRIFEET—T H| 6 |21
D] 4639 - 1 FRIFEET—T H| 6 |21
D] 4644 - 1 FRIFEET—T H| 6 |27
| 4644 - 1 FRIFEET—T H| 6 |28
| 4645 -4 MIFET—TH| 6 |29
| 4645 -4 MIFET—TH| 6 |29
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T | 4647 - 4 HRIFET—TH| 6 |47
| 4647 - 4 MIFEAT—TH| 6 |47
| 4647 - 4 MIFEAT—TH| 6 |47
THEEER | 4648 MIFEIT—TH| 6 |47
THEEER | 4648 MIFIT—TH| 6 |47
THERES| 4649 - 1 FRIFH—TH| 6 |38
TR 4649 - 1 PEET—TH| 6 |38
| 4649 - 1 MFEAT—TH| 6 |38
| 4649 - 1 MFEAT—TH| 6 |38
| 4649 - 1 MERT—TH| 6 |38
THEEER| 4650 MFEIT—TH| 6 |43
TS | 4650 - 4 FRIFET—TH| 6 |47
TS| 4650 - 4 HRIEET—TH| 6 |47
TS| 4650 - 5 FRIFET—TH| 6 |43
eS| 4659 - 1 fRIFET—TH| 5 |15
D] 4659 - 1 FRIEET—TH| 5 |15
| 4659 - 1 MFET—TH| 5 |15
TS| 4659 - 1 PIFET—TH| 5 |15
| 4659 - 1 MFET—TH| 5 |15
| 4659 - 1 MFET—TH| 5 |15
eS| 4659 - 1 PIFET—TH| 5 |15
| 4659 - 1 MFET—TH| 5 |15
| 4659 - 1 MFET—TH| 5 |15
eS| 4659 - 1 PIFET—TH| 5 |15
| 4659 - 1 FRIFEET—TH| 5 |15
TR | 4659 - 1 PhIFET—TH| 5 |15
{4659 - 1 FFERT—TH| 5 |16
| 4659 - 1 PRIFEET—T H| 5 |18
THEEER | 4659 - 2 PHIFET—TH| 5 |19
{4660 - 2 FFERT—TH| 3 |10
| 4660 - 4 PRIFET—TH| 65 | 2
| 4660 - 6 PRIEET—TH| 6 | 7
| 4660 - 6 MFET—TH| 5 | 7
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TS| 4660 — 6 fRIEET—TH| 5 |14
| 4660 - 6 FhIFEET—TH| 5 | 14
THEEER | 4660 - 7 MFIT—TH| 5 | 6
| 4660 - 12 MFEAT—TH| 3 | 1
| 4660 - 12 MFEIT—TH| 3 | 2
| 4660 - 12 MFEIT—TH| 3 | 2
| 4660 - 13 MFEAT—TH| 3 | 5
| 4660 - 16 MFEIT—TH| 3 | 9
| 4660 - 17 MFEIT—TH| 3 | 9
HFEHE| 4663 MEET—TH| 1 | 1
HFEHR | 4663 MEET—TH| 1 | 1
TR 4674 - 1 T —TH| 2 | 2
TR 4674 - 1 T —TH| 2 | 2
D 4674 - 1 T —TH| 2 | 2
D 4674 - 1 T —TH| 2 | 2
TR 4674 - 1 T —TH| 2 | 2
TR 4674 - 1 MEIT—-TH| 2 | 2
TR 4674 - 1 MEIT—-TH| 2 | 2
TR 4674 - 1 MEIT—-TH| 2 | 2
TR 4674 -3 T —TH| 2 |16
R 4674 - 3 FIFRT—TH| 2 |16
THEER| 4674 - 3 MIFEIT—TH| 2 |16
PR | 4675 FRIEET—TH| 2 | 3
PHEER| 4675 FRIEET—TH| 2 | 3
WS | 4675 PR TH] 2 )3
TR | 4675 - 1 PHIFET—TH| 2 | 6
TR | 4675 - 1 PHIFET—TH| 2 | 8
TR | 4675 - 1 PHIFET—TH| 2 | 9
W | 4675 - 1 HRIT—TH| 2 |15
S| 4675 - 1 MEIT—TH| 2 |15
R | 4675 - 1 MEIT—TH| 2 |15
MEFEER| 4675 - 1 FFERT—TH| 4 | 1
S| 4675 - 1 MR —TH| 4 |20
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PR 4675 - 1 FRIEET—TH| 4 |20
| 4675 - 1 MFEAT—TH| 4 |20
TEEES| 4675 - 1 FRIFEE—TH| 4 |20
TR 4675 - 1 PREET—TH| 4 |23
| 4675 - 1 MFEAIT—TH| 4 |23
| 4675 - 1 MFEAT—TH| 4 |23
TR 4675 - 1 PEET—TH| 4 |24
| 4675 - 7 MFEAT—TH| 4 |19
THEFEER| 4676 - 1 MIFIT—TH| 4 | 6
D 4676 - 1 AT —TH] 4 | 7
D] 4676 - 1 AT —TH] 4 | 7
D 4676 - 1 AT —TH| 4 | 8
D 4676 - 1 HRIEET—TH| 4 |10
eS| 4676 - 1 FRIFET—TH| 4 |10
eS| 4676 - 1 FRIFET—TH| 4 |10
D 4676 - 1 HRIEET—TH| 4 |10
| 4676 - 1 MFET—TH| 4 |10
TS| 4676 - 1 PRIFET—TH| 4 |10
| 4676 - 1 MEET—TH| 4 |11
| 4676 - 1 MEET—TH| 4 |13
| 4676 - 4 T —-TH| 4 | 3
| 4676 - 4 T —-TH| 4 | 3
| 4676 - 4 T —TH| 4 | 3
| 4676 - 4 T —TH| 4 | 3
D] 4676 - 4 PRIFHT—T H| 4 | 4
THEEER | 4676 — 4 PHIFET—TH| 4 | 5
5| 4676 - 5 MEET—TH| 4 | 2
D 4792 PRIFEET—T H| 6 |47
P WIENT—TH| 5 |11
i HEHT—TH| 6 |28
e HERT—TH| 6 |33
PheEn wFRT—TH| 6 |35
R MERTZTH| 1|11
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peis
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peis

R R G

pis
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PREET T H| 1 |22
PREIT T H| 1 |22
FREET T H| 1 |60
PREITZTH| 1 |62
MFEETTH| 2 | 5
PRIFEIT T H| 8 |28
FRFEIT T H| 8 |28
PIFEIT T H| 8 |36
FREET T H| 8 |39
PEITZTH| 9 | 6
FEITZTH| 9 |14
FPFEET T H| 9 |48
BHIT—TH| 1 | 2
BHIT—TH| 2 | 7
BHIT—TH| 2 | 7
BHIT—TH| 4 | 7
FEHEIT—TH| 6 |37
FEHET—TH| 6 |38
FEHEIT—TH| 6 |62
FHEITZTH 7 |13
EHET-TH| 8 1
FHETZTH| 8 | 2
FEHETZTH 8 | 6
FEHETZTH| 8 |25
BHET-THA| 8 |39
BHEIT-TA| 9 |22
BHERT—THA| 10 |30
BT —THA| 19 |18
BHERT—THA| 19 |18
BT —TH| 23 |14
BHRT—TH| 23 |26

_39_




